# SECTION VII. TECHNICAL SPECIFICATION

Item No.	TITLE OF NEWSPAPER / JOURNALS / MAGAZINES	NO. OF COPIES	UNIT PRICE (INCLUSIVE OF VAT)	TOTAL	STATEMENT OF COMPLIANCE
1	2014 Philippine Yearbook, The, 1 issue	2	700.00	1,400.00	
2	Action Asia, 6 issues	2	1,500.00	3,000.00	
3	Admin Network Security, 6 issues	1	6,000.00	6,000.00	
4	Agribusiness, 12 issues	2	1,400.00	2,800.00	
5	Agriculture, 12 issues	2	1,400.00	2,800.00	
6	Animal scene, 12 issues	2	1,640.00	3,280.00	
7	Appetite, 11 issues	2	1,575.00	3,150.00	
8	Bannawag, 52 issues	2	2,100.00	4,200.00	
9	Bato Balani, 4 issues	2	800.00	1,600.00	
10	Blu Print, 6 issues	2	2,000.00	4,000.00	
11	Buhay Marino, 6 issues	2	1,700.00	3,400.00	
12	C! Magazine, 13 issues	2	2,180.00	4,360.00	
13	Computer World, 23 issues	1	14,000.00	14,000.00	
14	Computer World Phils., 11 issues	2	1,600.00	3,200.00	
15	Cook, 12 issues	2	1,400.00	2,800.00	
16	DiabetEASE, 4 issues	2	700.00	1,400.00	
17	Digital Photographer, Philippines, 12 issues	2	2,600.00	5,200.00	
18	Educator, The, 6 issues	2	1,400.00	2,800.00	
19	Education for Development, 6 issues (latest)	2	1,400.00	2,800.00	
20	Electrical Engineer, The, 4 issues (latest)	2	1,700.00	3,400.00	
21	Elle decoration, Philippines, 10 issues	2	2,500.00	5,000.00	
22	EntrePinoy, 4 issues	2	600.00	1,200.00	
23	Entrepreneur, 11 issues	2	1,800.00	3,600.00	
24	F & B World w/ Baking Press, 6 issues	2	1,700.00	3,400.00	
25	Flavors, 12 issues	2	1,100.00	2,200.00	
26	Food, 12 issues	2	1,340.00	2,680.00	
27	Fookien Times Yearbook	2	650.00	1,300.00	

### GROUP A. SERIALS FOR NATIONAL LIBRARY OF THE PHILIPPINES (NLP)

	2014, Annual				
28	Good Housekeeping Phils., 11 issues	2	1,850.00	3,700.00	
29	Health & Home Magazine, 6 issues	2	1,250.00	2,500.00	
30	Health & Lifestyle Magazine (Phils.), 12 issues	2	1,640.00	3,280.00	
31	Health Today, Moms Today & Health Guide, 11 issues	2	1,935.00	3,870.00	
32	HWM (Hardware Magazine), 12 issues	2	2,050.00	4,100.00	
33	Historical Bulletin, 1 issue (latest)	2	850.00	1,700.00	
34	Humanities Diliman, 1 issue (latest)	2	400.00	800.00	
35	I Mag Photography, 11 issues	2	2,850.00	5,700.00	
36	Impact Magazine, 12 issues	2	950.00	1,900.00	
37	Kuwentong Negosyo, 6 issues	2	400.00	800.00	
38	Leisure + Adventure Travel, 6 issues	2	1,900.00	3,800.00	
39	Linux Format, 12 issues	1	10,000.00	10,000.00	
40	Linux Journal Linux Format, 12 issues	1	6,000.00	6,000.00	
41	Linux Magazine, 12 issues	1	10,000.00	10,000.00	
42	Linux User & Development, 12 issues	1	18,500.00	18,500.00	
43	Life Today, 6 issues	2	600.00	1,200.00	
44	Liwayway, 52 issues	2	2,100.00	4,200.00	
45	Look, 4 issues	2	600.00	1,200.00	
46	Men's health Phils., 12 issues	2	1,850.00	3,700.00	
47	Metro Society, 12 issues	2	3,100.00	6,200.00	
48	My Home, 11 issues	2	1,850.00	3,700.00	
49	MOD, 12 issues	2	2,700.00	5,400.00	
50	Modern Teacher, 10 issues	2	950.00	1,900.00	
51	PC Buyer's guide, 4 issues	3	850.00	2,550.00	
52	PC World Magazine (US), 12 issues	1	12,000.00	12,000.00	
53	People Asia, 6 issues	2	1,350.00	2,700.00	
54	Philippine Engineering Journal, 4 issues (latest)	2	1,300.00	2,600.00	

55	Philippine Graphic Magazine, 50 issues	2	2,650.00	5,300.00	
56	Philippine Journal of History, 1 issue (latest)	2	1,500.00	3,000.00	
57	Philippine Journal of Nursing Education, 1 issue (latest)	2	1,200.00	2,400.00	
58	Philippine Journal of Psychology, 2 issues (latest)	2	1,350.00	2,700.00	
59	Philippine Journal of Public Administration, 1 issue (latest)	2	1,150.00	2,300.00	
60	Philippine Journal of Science , 2 issues (latest)	2	2,180.00	4,360.00	
61	Philippine Journal of Social Work, 1 issue (latest)	2	600.00	1,200.00	
62	Philippine Tatler, 12 issues	2	2,000.00	4,000.00	
63	Reader's Digest, 12 issues	1	1,800.00	1,800.00	
64	Real Living, 11 issues	2	2,350.00	4,700.00	
65	Science Diliman, 1 issue	2	450.00	900.00	
66	Seaway Magazine, 12 issues	2	1,400.00	2,800.00	
67	Sense & Style, 12 issues	2	1,600.00	3,200.00	
68	Smart Parenting, 11 issues	2	1,400.00	2,800.00	
69	Social Science Diliman, 1 issue (latest)	2	400.00	800.00	
70	Sports Digest, 12 issues	2	1,590.00	3,180.00	
71	Travel life, 6 issues	2	1,100.00	2,200.00	
72	Travel Plus, 6 issues	2	800.00	1,600.00	
73	Vital Signs, 24 issues	2	900.00	1,800.00	
74	Woman Today, 12 issues	2	1,200.00	2,400.00	
75	Women's Health Philippines, 12 issues	2	1,600.00	3,200.00	
76	Women's Journal, 24 issues	2	2,230.00	4,460.00	
77	Working Mom, 12 issues	2	1,590.00	3,180.00	
78	Youngster, 5 issues	2	700.00	1,400.00	
79	Youth Today, 5 issues	2	700.00	1,400.00	
80	Yummy, 12 issues	2	1,425.00	2,850.00	
81	Zen Health, 4 issues	2	650.00	1,300.00	
	NEWSPAPERS				
82	Balita, 365 issues	2	3,700.00	7,400.00	
83	Business Mirror Newspaper,	2	8,000.00	16,000.00	

	308 issues				
84	Business World Newspapers, 260 issues	2	6,525.00	13,050.00	
85	Daily Tribune, The, 365 issues	2	6,570.00	13,140.00	
86	Malaya, 261 issues	2	6,575.00	13,150.00	
87	Manila Bulletin, MonSat., 313 issues	6	5,684.00	34,104.00	
88	Manila Bulletin, Sunday, 52 issues	6	1,090.00	6,540.00	
89	Manila Standard Today, 310 issues	5	6,620.00	33,100.00	
90	Manila Times, 365 issues	2	6,620.00	13,240.00	
91	People's Journal, 365 issues	2	3,700.00	7,400.00	
92	Philippine Daily Inquirer, MonSat., 313 issues w/ free access to digital copy	9	5,684.00	51,156.00	
93	Philippine Daily Inquirer, Sunday, 52 issues w/ free access to digital copy	9	1,090.00	9,810.00	
94	Philippine Star, 365 issues	2	7,400.00	14,800.00	
95	Pilipino Star Ngayon, 365 issues	2	3,700.00	7,400.00	
96	Wall Street Journal, Asia, 240 issues	1	12,500.00	12,500.00	
	TOTAL				

## GROUP B. SERIALS FOR TONDO CONG. LIB. (TCL)

Ite m No.	TITLE OF NEWSPAPER / JOURNALS / MAGAZINES	NO. OF COPIES	UNIT PRICE (INCLUSIVE OF VAT)	TOTAL	STATEMENT OF COMPLIANCE
1	Action and Fitness, 6 issues	1	1,000.00	1,000.00	
2	Better homes and gardens, 12 issues	1	3,600.00	3,600.00	
3	Boxing Digest, 8 issues	1	4,000.00	4,000.00	
4	Cook Magazine, 11 issues	1	1,400.00	1,400.00	
5	Cross Sticher, 6 issues	1	5,500.00	5,500.00	
6	DiabetEASE, 6 issues	1	700.00	700.00	
6.a	Discover, 12 issues	1	4,700.00	4,700.00	
7	Food, 12 issues	1	1,340.00	1,340.00	
8	Fortune, 20 issues		2,900.00	2,900.00	

9	Good Housekeeping Phils. Ed., 12 issues	1	1,850.00	1,850.00	
10	Hairstyle only, 6 issues	1	2,300.00	2,300.00	
11	Health & Home Magazine, 6 issues	1	1,250.00	1,250.00	
12	Health Today, w/ Health Guide &Moms Today, 11 issues	1	1,935.00	1,935.00	
13	Immaculate Messenger, 4 issues	1	1,000.00	1,000.00	
14	Ladies Home Journal, 12 issues	1	3,000.00	3,000.00	
15	Look, 4 issues	1	600.00	600.00	
16	Men's health Phils. Ed., 12 issues	1	1,850.00	1,850.00	
17	Metro Society, 12 issues	1	3,100.00	3,100.00	
18	MOD, 12 issues	1	2,700.00	2,700.00	
19	National Geographic, 12 issues	1	4,000.00	4,000.00	
20	Paper crafts, 8 issues	1	3,000.00	3,000.00	
21	Philippine Graphic, 52 issues	1	2,650.00	2,650.00	
22	Popular Photography, 12 issues	1	4,400.00	4,400.00	
23	Reader's Digest, 12 issues	1	1,800.00	1,800.00	
24	Smart Parenting, 11 issues	1	1,400.00	1,400.00	
25	Time, 52 issues	1	3,600.00	3,600.00	
26	Total Fitness, 12 issues	1	1,700.00	1,700.00	
27	Travel Life, 6 issues	1	1,100.00	1,100.00	
28	Women's Journal, 52 issues	1	2,230.00	2,230.00	
	NEWSPAPERS				
29	Business Mirror, 308 issues	1	8,000.00	8,000.00	
30	Manila Bulletin, MonSat., 313 issues	1	5,684.00	5,684.00	
31	Manila Bulletin, Sunday, 52 issues	1	1,090.00	1,090.00	
32	People's Journal, 365 issues	1	3,700.00	3,700.00	
33	Philippine Daily Inquirer, MonSat., 313 issues w/ free access to digital copy	1	5,684.00	5,684.00	
34	Philippine Daily Inquirer, Sunday, 52 issues w/ free access to digital copy	1	1,090.00	1,090.00	
35	Philippine Star, 365 issues	1	7,400.00	7,400.00	

36	Pilipino Star Ngayon, 365 issues	1	3,700.00	3,700.00	
	TOTAL				

### GROUP C. SERIALS FOR BOHOL CONGRESSIONAL LIBRARY (BCL)

Ite m No.	TITLE OF NEWSPAPER / JOURNALS / MAGAZINES	NO. OF COPIES	UNIT PRICE (INCLUSIVE OF VAT)	TOTAL	STATEMENT OF COMPLIANCE
1	Agriculture, 12 issues	1	1,400.00	1,400.00	
2	Bato Balani, 4 issues	1	860.00	860.00	
3	Bisaya, 12 issues	1	3,900.00	3,900.00	
4	Computer World, 12 issues	1	2,940.00	2,940.00	
5	Entrepreneur Phils., 12 issues	1	2,680.00	2,680.00	
6	Modern Teacher, 10 issues	1	1,200.00	1,200.00	
7	Philippine Graphic, 52 issues	1	3,000.00	3,000.00	
8	Reader's Digest, 12 issues	1	1,980.00	1,980.00	
9	Smart Parenting, 12 issues	1	1,600.00	1,600.00	
10	Sports Digest, 11 issues	1	1,476.00	1,476.00	
11	Star Studio, 12 issues	1	1,260.00	1,260.00	
12	Yes Magazine, 12 issues	1	1,260.00	1,260.00	
13	Yummy, 12 issues	1	1,600.00	1,600.00	
	NEWSPAPERS				
14	Bohol Chronicle, Wed., Ed., 52 issues	1	988.00	988.00	
15	Bohol Chronicle, Sunday, 52 issues	1	1,196.00	1,196.00	
16	Manila Bulletin, 365 issues	1	10,080.00	10,080.00	
17	Philippine Daily Inquirer, 365 issues	1	10,080.00	10,080.00	
18	Philippine Star, 365 issues	1	10,080.00	10,080.00	
19	Pilipino Star Ngayon, 365 issues	1	6,120.00	6,120.00	
20	Sunday Post, 52 issues	1	1,040.00	1,040.00	
21	Sunstar-dailies, 308 issues	1	5,852.00	5,852.00	
22	Sunstar-Sunday Ed., 52 issues	1	1,404.00	1,404.00	
	TOTAL				

**Bid Form** 

Date: \_\_\_\_\_\_ Invitation to Bid N°: \_\_\_\_\_\_

*To:* [name and address of Procuring Entity]

Gentlemen and/or Ladies:

Having examined the Bidding Documents including Bid Bulletin Numbers [insert numbers], the receipt of which is hereby duly acknowledged, we, the undersigned, offer to [supply/deliver/perform] [description of the Goods] in conformity with the said Bidding Documents for the sum of [total Bid amount in words and figures] or such other sums as may be ascertained in accordance with the Schedule of Prices attached herewith and made part of this Bid.

Item No.	TITLE OF NEWSPAPER / JOURNALS / MAGAZINES	NO. OF COPIES FOR NLP	UNIT PRICE (INCLUSIVE OF VAT)	TOTAL
1	2014 Philippine Yearbook, The, 1 issue	2		
2	Action Asia, 6 issues	2		
3	Admin Network Security, 6 issues	1		
4	Agribusiness, 12 issues	2		
5	Agriculture, 12 issues	2		
6	Animal scene, 12 issues	2		
7	Appetite, 11 issues	2		
8	Bannawag, 52 issues	2		
9	Bato Balani, 4 issues	2		
10	Blu Print, 6 issues	2		
11	Buhay Marino, 6 issues	2		
12	C! Magazine, 13 issues	2		
13	Computer World, 23 issues	1		
14	Computer World Phils., 11 issues	2		
15	Cook, 12 issues	2		
16	DiabetEASE, 4 issues	2		
17	Digital Photographer, Philippines, 12 issues	2		
18	Educator, The, 6 issues	2		
19	Education for Development, 6 issues (latest)	2		
20	Electrical Engineer, The, 4 issues (latest)	2		

#### GROUP A. SERIALS FOR NATIONAL LIBRARY OF THE PHILIPPINES (NLP)

21	Elle decoration, Philippines, 10 issues	2	
22	EntrePinoy, 4 issues	2	
23	Entrepreneur, 11 issues	2	
24	F & B World w/ Baking Press, 6 issues	2	
25	Flavors, 12 issues	2	
26	Food, 12 issues	2	
27	Fookien Times Yearbook 2014, Annual	2	
28	Good Housekeeping Phils., 11 issues	2	
29	Health & Home Magazine, 6 issues	2	
30	Health & Lifestyle Magazine (Phils.), 12 issues	2	
31	Health Today, Moms Today & Health Guide, 11 issues	2	
32	HWM (Hardware Magazine), 12 issues	2	
33	Historical Bulletin, 1 issue (latest)	2	
34	Humanities Diliman, 1 issue (latest)	2	
35	I Mag Photography, 11 issues	2	
36	Impact Magazine, 12 issues	2	
37	Kuwentong Negosyo, 6 issues	2	
38	Leisure + Adventure Travel, 6 issues	2	
39	Linux Format, 12 issues	1	
40	Linux Journal Linux Format, 12 issues	1	
41	Linux Magazine, 12 issues	1	
42	Linux User & Development, 12 issues	1	
43	Life Today, 6 issues	2	
44	Liwayway, 52 issues	2	
45	Look, 4 issues	2	
46	Men's health Phils., 12 issues	2	
47	Metro Society, 12 issues	2	
48	My Home, 11 issues	2	
49	MOD, 12 issues	2	

50	Modern Teacher, 10 issues	2	
51	PC Buyer's guide, 4 issues	3	
52	PC World Magazine (US), 12 issues	1	
53	People Asia, 6 issues	2	
54	Philippine Engineering Journal, 4 issues (latest)	2	
55	Philippine Graphic Magazine, 50 issues	2	
56	Philippine Journal of History, 1 issue (latest)	2	
57	Philippine Journal of Nursing Education, 1 issue (latest)	2	
58	Philippine Journal of Psychology, 2 issues (latest)	2	
59	Philippine Journal of Public Administration, 1 issue (latest)	2	
60	Philippine Journal of Science , 2 issues (latest)	2	
61	Philippine Journal of Social Work, 1 issue (latest)	2	
62	Philippine Tatler, 12 issues	2	
63	Reader's Digest, 12 issues	1	
64	Real Living, 11 issues	2	
65	Science Diliman, 1 issue	2	
66	Seaway Magazine, 12 issues	2	
67	Sense & Style, 12 issues	2	
68	Smart Parenting, 11 issues	2	
69	Social Science Diliman, 1 issue (latest)	2	
70	Sports Digest, 12 issues	2	
71	Travel life, 6 issues	2	
72	Travel Plus, 6 issues	2	
73	Vital Signs, 24 issues	2	
74	Woman Today, 12 issues	2	
75	Women's Health Philippines, 12 issues	2	
76	Women's Journal, 24 issues	2	
77	Working Mon, 12 issues	2	
78	Youngster, 5 issues	2	

79	Youth Today, 5 issues	2	
80	Yummy, 12 issues	2	
81	Zen Health, 4 issues	2	
	NEWSPAPERS		
82	Balita, 365 issues	2	
83	Business Mirror Newspaper, 308 issues	2	
84	Business World Newspapers, 260 issues	2	
85	Daily Tribune, The, 365 issues	2	
86	Malaya, 261 issues	2	
87	Manila Bulletin, MonSat., 313 issues	6	
88	Manila Bulletin, Sunday, 52 issues	6	
89	Manila Standard Today, 310 issues	5	
90	Manila Times, 365 issues	2	
91	People's Journal, 365 issues	2	
92	Philippine Daily Inquirer, Mon Sat., 313 issues w/ free access to digital copy	9	
93	Philippine Daily Inquirer, Sunday, 52 issues w/ free access to digital copy	9	
94	Philippine Star, 365 issues	2	
95	Pilipino Star Ngayon, 365 issues	2	
96	Wall Street Journal, Asia, 240 issues	1	
	TOTAL		

#### GROUP B. SERIALS FOR TONDO CONG. LIB. (TCL)

em TITLE OF NEWSPAPER /	NO. OF	UNIT PRICE	TOTAL
-------------------------	--------	------------	-------

No.	JOURNALS / MAGAZINES	COPIES FOR TCL	(INCLUSIVE OF VAT)	
1	Action and Fitness, 6 issues	1		
2	Better homes and gardens, 12 issues	1		
3	Boxing Digest, 8 issues	1		
4	Cook Magazine, 11 issues	1		
5	Cross Sticher, 6 issues	1		
6	DiabetEASE, 6 issues	1		
6.a	Discover, 12 issues	1		
7	Food, 12 issues	1		
8	Fortune, 20 issues			
9	Good Housekeeping Phils. Ed., 12 issues	1		
10	Hairstyle only, 6 issues	1		
11	Health & Home Magazine, 6 issues	1		
12	Health Today, w/ Health Guide &Moms Today, 11 issues	1		
13	Immaculate Messenger, 4 issues	1		
14	Ladies Home Journal, 12 issues	1		
15	Look, 4 issues	1		
16	Men's health Phils. Ed., 12 issues	1		
17	Metro Society, 12 issues	1		
18	MOD, 12 issues	1		
19	National Geographic, 12 issues	1		
20	Paper crafts, 8 issues	1		
21	Philippine Graphic, 52 issues	1		
22	Popular Photography, 12 issues	1		
23	Reader's Digest, 12 issues	1		
24	Smart Parenting, 11 issues	1		
25	Time, 52 issues	1		
26	Total Fitness, 12 issues	1		
27	Travel Life, 6 issues	1		
28	Women's Journal, 52 issues	1		
	NEWSPAPERS			
29	Business Mirror, 308 issues	1		
30	Manila Bulletin, MonSat., 313 issues	1		

31	Manila Bulletin, Sunday, 52 issues	1	
32	People's Journal, 365 issues	1	
33	Philippine Daily Inquirer, Mon Sat., 313 issues w/ free access to digital copy	1	
34	Philippine Daily Inquirer, Sunday, 52 issues w/ free access to digital copy	1	
35	Philippine Star, 365 issues	1	
36	Pilipino Star Ngayon, 365 issues	1	
	TOTAL		

## GROUP C. SERIALS FOR BOHOL CONGRESSIONAL LIBRARY (BCL)

Item No.	TITLE OF NEWSPAPER / JOURNALS / MAGAZINES	NO. OF COPIES FOR BCL	UNIT PRICE (INCLUSIVE OF VAT)	TOTAL
1	Agriculture, 12 issues	1		
2	Bato Balani, 4 issues	1		
3	Bisaya, 12 issues	1		
4	Computer World, 12 issues	1		
5	Entrepreneur Phils., 12 issues	1		
6	Modern Teacher, 10 issues	1		
7	Philippine Graphic, 52 issues	1		
8	Reader's Digest, 12 issues	1		
9	Smart Parenting, 12 issues	1		
10	Sports Digest, 11 issues	1		
11	Star Studio, 12 issues	1		
12	Yes Magazine, 12 issues	1		
13	Yummy, 12 issues	1		
	NEWSPAPERS			
14	Bohol Chronicle, Wed., Ed., 52 issues	1		
15	Bohol Chronicle, Sunday, 52 issues	1		
16	Manila Bulletin, 365 issues	1		
17	Philippine Daily Inquirer, 365 issues	1		
18	Philippine Star, 365 issues	1		
19	Pilipino Star Ngayon, 365 issues	1		
20	Sunday Post, 52 issues	1		
21	Sunstar-dailies, 308 issues	1		

22	Sunstar-Sunday Ed., 52 issues	1	
	TOTAL		

We undertake, if our Bid is accepted, to deliver the goods in accordance with the delivery schedule specified in the Schedule of Requirements.

If our Bid is accepted, we undertake to provide a performance security in the form, amounts, and within the times specified in the Bidding Documents.

We agree to abide by this Bid for the Bid Validity Period specified in <u>BDS</u> provision for **ITB** Clause 18.2 and it shall remain binding upon us and may be accepted at any time before the expiration of that period.

Until a formal Contract is prepared and executed, this Bid, together with your written acceptance thereof and your Notice of Award, shall be binding upon us.

We understand that you are not bound to accept the lowest or any Bid you may receive

We certify/confirm that we comply with the eligibility requirements as per **ITB** Clause 5 of the Bidding Documents.

Dated this \_\_\_\_\_ day of \_\_\_\_\_ 20\_\_\_.

[signature]

[in the capacity of]

Duly authorized to sign Bid for and on behalf of \_\_\_\_\_